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FINAL TEST SERIES JEE MAIN -2020
TEST-01 ANSWER KEY

[PHYSICS]
f=ux250=03x%250=75N

From given graphs :-

F—E IOF——i 20F—i 16
x—4X+ By = 3y+ s z—3z—

8 20 0
w= [F.dr=[F dx+ [F dy+ [F, dz
0 5 12

W=104+50+96=2501J

dr
—_— = 01 = 2
m A=nr
A o 2S5 01
dt dt 11
=0.29 cm®/sec
For equilibrium :- f>mg
g
p Kd > mg K> ud
mg
Hence K..= E

2
a=+4a; +a; = L—J +ay
r

2
a= [%} +(2)° =2.8 mss?

Test Date :08-12-2019
X =32 -6t y=t2-2t
v=%=6t—6 v=d—y=2t—2
o dt y t

att=1sec— v =0 and vy=0

hence v=JVi+v. =0

Fy +F + F. +Fp +F, = (100x3)1 =300i

(1)
By +Fo+ By +F, =(100x )(-i) =~ 1001
- (2)

F, +F. +F, +F; = (100 x 24)] =2400]
- (3)

From (1) & (2) = F, =400 i

From (1) & (3) = F, =300 — 2400
So, when A & B pulling the cart then acceleration

F, +F, 7001-2400)

i= = _(7f—243)m/s2
m 100
ja| =25 m/s
__ 6
A 2
-
v
B 6s
[T TR VAR S
T «t>e—1t,——t;=> time
v v v
65 X v Ve 3

avg

Vo 10s = 5

@
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10.

11.

12.

13.

14.

15.

16.

_ distance
time

avg

1
—(1+2)x1
2( )

Vmg = 1

3 0 )

=2 Z1.5mfs
2

3m(200 cos 60°) § =(mx 100)J +(m>x 100)(~]) + mv

V= (300 i) m/s

300 m/s in the horizontal direction.

0
1=2x1c055
0=120°

0

R—ZaCOSE
. 6 .

R!= 2asm§ =2 x 1sin60° = 3

veos45° = 150 cos 60° = v =752 m/s

v,=u +at = vsind5° = 150 sin60° —g x t
150sin 60° — vsin45°
t= m :7.5(\/37—1)sec
mg{ 200 10
W= 2 wheren:azg
4x10x2x%x9 361
To2x10x10 T

ex3i+Ax(-i) =@+ 1y

2i=3v
V—zfm/

v=u+at
a= 100 m/s?

F_10°

a 100

= 1000=0+ax10

10’ kg

m, — mass of hanged part
m, —> mass of remaining part

17. mg=pum,g

M

—x/{
pemo__ Lo !
m, M(L—L’) L-(
L
18. - FaVv
dm
v P=V:— \/l—DocV
dt
19. C
20.

S
W=AK=0= J.(mgsine - umgcose) dx
0

K 2
(mg sin 6)S = (mg cos B)TS

2tan©
K
INTEGER
21. Number of significant figures are 3, because 10°

is decimal multiplier.
22. soc y? i.e. if speed becomes three times then
distance needed for stopping will be nine times.
23.  W=Fs=(6i+2j-3k).(2i —3j+xk) =0
12-6-3x=0=>X=2.

24. Opposing force F=u [%—Tj:ZxO.S:lN

So same amount of force is required to
keep the belt moving at 2 m/s

25. If monkey move downward with
acceleration a then its apparent weight
decreases. In that condition Tension in

string =m(g-a)

This should not be exceed over breaking
strength of the rope i.e
360>m(g—a)=360>60(10-a) =

a>4m/s?
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26.

27.

28.

29.

30.

31

32.

[ CHEMISTRY]

he
E = ”
he
7\,=E
h
A=
P
hc h
E p
E
P=7

1 1
_ o o L L )
(V,)He+ =y=R,2 [nlz n;] (1)

_ 11
(V,), =Ry, x32(—2——2]
nI 2

(i) +(@1)
(Vz)ﬁ =y X 2

4

In asingle ™ system energy of an orbital depends
only upon value of n.

(COOH),.2H,0 — 2C + 60 + 6H

0.3 mol

1 mol (COOH).2H,0 = 6 mol O

0.3 mol (COOH).2H,0 = 0.3 x 6 mol O
= 1.8 mol O

n\ = 2nur

2m  2x3.14x0529x10 °cmx4
n 2

A=

Mx5
100
M = 640

(I.E.)H2= — (El)H =X
Ex?Z
AE = E5 — E2

=32

33.

34.

35.

36.

37.

38.

39.
40.
41.
42.

43.

44,

3
PH,(g) > P(s) + - H,(g)

100 mL 0 mL
0 mL 150 mL
AV =150 - 100 = 50 mL

Z
Voo —
n
n
X, =—2 =025
: n, +ng
n
X, =—2—=0.75
n, +ng,
f
gV op 0= YO0 160,
w wtof O, +wtof O,
w 2 2
= 2 100=224100=18.18
W, +W 32+144 176

0, O3

Gram equivalents of acid = Gram equivalent of base

iz.lxl
EW
E, =170

M =2x 170 = 340

h

AxX= ———
* 4drxmxAv

_ 6.62x107* x100
T 4x3.14%9.1x107* x 600 x 0.005

=1.92x10"m

Nuclei containing same number of neutrons are
isotones.

A

D

D

B

Inert gases have highest 'IE' in respective period
due to full filled configuration.

|
H_O_ﬁ_o_o_ﬁ_O_H
0 0

®)



Test-1

45. D
INTEGER
46. Maximum value of m, = +3
Value of 1 = 3
Value of n = 4
47.
Cl Cl
[S)
/ I \ sp'd’
Cl Cl
48.  Cu® +2I" > Cul, 2Cul, - Cu,l, +1,
l, +2Na2S,0, — 2Nal + Na,S,0,
Cu®* =2Na,S,0,
-1 1 1
vV=—= R _—
49 7\‘ H |:n12 ng i|
1 1 1
2
for Paschen series.
50. In ice each water molecule forms four

hydrogen bond through which each water
molecule is tetrahedrally attached with
other water molecule.

H P
o<,
H\ ’,,H H\O/,
/O\\ / "\\H
H H\O/,H L
'\ O\\
H ,H/ H ,H/ )
\O/ \Ox
H/ \\H - “H
\O,’H \ '1’
O\
H/ H/ \\

FINAL TEST SERIES JEE- MAIN 2020 (Answers & Hints)

[MATHEMATICS]
51 B
52 B
53 B
54 C
5 C
56 D
57. Ans. (3)
s a=0and y=Dbx*+ cx + d is symmetric
about x = ——
2b
C C
k= - =k+S =0
Xk T
:>a+i+k:0
2b
S8. Ans.(2)
10g2(1+\/6x—x2—8)20
=1+vV6x—x"-821=6x-x"-820
=x —6x+8<0
=>(x-2)(x-4)<0
=2<x<4.
Now f'(x)=x*+2x+2>0 V xeR
= f(x) is strictly increasing in [2, 4]
3
f(x)=%+x2+2x
8 32
a=f(2)=—+4+4=—
f() 3 3
64 136
b=f(4)=—+16+8=—
S(4)=3 3
a+b=>56
59. Ans. (4)

Reflexive, symmetric but not transitive.
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60. Ans. (1)
l+ 2sin£(cosx+c052x+cosé3x+cos4x)=0
. X 2
2s8in —
2
=—+ sing——s:inE =0
2 2qi 2
sin—
. [9x]
sin ? nr
=—— " =0=x=—-n#9mmel
. (x 9
sin| —
(2}
61. Ans. (3)

cotx =l cotz—t&mE
2 2 2

cotx:l l coti—tani —tan3
212 4 4 2

x 1 x 1 X
=—c0tz——tan———tan—

:1 cot=—tan— —ltani—ltanE
8 8 8 2

62.  Ans. (2)
A=Lah, = 1bh, = Len,
2 2 -
2A 2A
h,=— and h, Y and h; =
i+ 1 1. (a+b—c):2‘ﬁ
hl h2 h3 2 15

64.

65.

66.

J
0 10

10

—J—
d = 10cot®; d = 30cot26
10cotO = 3cot20

= 0=30°

Ans. (1)

. 1
sina =—
3

. AC,=3
AC,=6
AD=38

S BD=2J2

Area = %.4\./5.8 = 16\/5
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67.

68.

69.

Ans. (3)
y =mx + 1 is tangent to ellipse

x?+ 4y% =1 in Ist quadrant .. m <0

1
1= 24 —
Ty
V3 3
=— or ———
2 2
(reject)
Ans. (2)

aRboa=2Faitistruefork=0

.. reflexive

(2,1) € Rbut (1,2) ¢ R = it is not symmetric
ifa=2b and b=2%¢, then a =25"¢

= it is transistive.

Ans. (2)
X
cos — 9x
LHS: ‘—?’:cosec—:k:2
sin — cos 3 3

tan~!(tan2) =2 — 7.

70.

71.

72.
73.

74.
75.

Ans. (3)

2h
Given2b=a+c = —2=1+% ()
a a

a a a

oy =-31.

INTEGER

o 3
_2
F)=2% s

Let h(x)=x"-7x" —4x+23
=(x*~4) +(x-2) +3
h(x) > 3

Range of h(x) is [3,x)
= Range of f(x) is (2, 3]

xz—\/gx+1=0
1 .

Ll L

—in/4

. a
— eim’a‘l =e
o0 + BF)U = pi25W2 4 o-i2512 — | 4 (-)=0

5 Do your self

4
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